05 01 11

G )
3,775| | 3,769 | 0| 6| 0.15
R3 RS R7
30 R 100 R7
R2 3 4 30 100 100
/
0 R3 100 RY
0 100 100
/
0 R 100 R7

0 100 100

/

0 RS 100 R

0 0 100

/

0 R 100 R7

0 100 100

/

0 R 100 R7

0 100 100

/

|| || ||
1 0000441039




R3 RS R7
7 2% R3 100 R7
25 100 100
8 0 R3 100  R7
R3 4 0 100 100
9 0 RS 100  R7
R4 5 0 100 100
10 0 R3 100  R7
R6 0 0 100
11 0 RS 60 R7
R6 7 8 0 0 60
12 0 R3 30 R7
R7 8 0 0 30
13 0 (R3) 100 (R7)
0 100 100
) )
14 ) 0 (R3) 100 (R7)
0 0 100
) )
15 0 R3 100  R7
0 0 100
16 0 R3 100  R7
0 100 100

0000441039




R3 RS R7

17 0 R3 100 R7

100 100

ha ha

18 0 R3 100 R7

100 100

ha ha

19 0 R3 100 R7

100 100
20 0 R5 100 R9

0 100

0000441039




R03 |R04 [RO5 [RO6 [RO7

A07-001 ] 22
A07-002 ] 23
A07-003 ] 10
A07-004 ] 28
A07-005 ] 15
A07-006 ] 5

0000441039




R03 |R04 [RO5 [RO6 [RO7

A07-007 ] 232
A07-008 "= 1,320
A07-009 "= 601
A07-010 "= 506
A07-011 "= 577
A07-012 ] 41

0000441039




R03 |R04 [RO5 [RO6 [RO7

A07-013 ] 13
A07-014 ] 50
A07-015 ] 25
A07-016 ] 14
A07-017 ] 23
A07-018 | I | 82

0000441039




R03 |R04 [RO5 [RO6 [RO7

A07-019 e 57
15
A07-020 e 125
[ L[] 79| |
| 1] a6 |

0000441039




R03 |R04 [RO5 [RO6 [RO7

C07-001

0000441039




RO3

€)) 204

() 0

(c=a+b) 204
(D 0

© 204

® 0

0

(h = c+d-e-f) 0
(i = (g+h)/(c+d)) 0

10

0000441039



